























20. Whe esteblished tattavabodhini sabha for philosophical and religions discussion snd staricd
@ isttavabodhini petrike propagate Brahmoiem
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Which of the following are corzectly matched?

Hers of Vaikom -

South Indian Jibersl foderstion
(4) 1 and I are corvect (8) 1IN snd IV are correct
(4 1 und I are correct MI,m&ndem
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he sum of the two xmmbe:s in 40 aod their differsgee is 4. The ratic of the vumbers is

0.7
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Rum starts from & point 4 and walks 6 km North, then turns left end walks 8 km, then
turne left and walls 12 bm upto the point B, What is the direction of Bam?
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§6.  'The ore, (Cal0Mgli,) is known as .
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82. Which Cherter Ae: gave Rupess ome lukh svezy year for the developmens edusstion jn
@ India?
(A) Cherter Act— 1893 @ Charter Act— 1813
() Chsrter Act—1798 M) Chartor Act - 1868
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84, If zap=a® i '~y then the valus of 9911 is

M 103 (B) 112 .

@y 127 - Dy 200

wepez - " - my el 9911~ i)

Ay 108 @ 112
o 127 ) 200

85,  The average of the non zero number and its aqusre jis five times the pumber, then the
number iz :
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86. Find the wrong number in the serios

10, 14, %8, 22, 64, €8, 132,

&) 52 = 183
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10, 14, 28, 39, 64, 68, 132
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96.  The number of bits that a computer can process st any exe time is called —
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Bize. . . .
Ay Bt

B Byte
M Word

(D) Sentence
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37.  When NOTA option wes introduced in elections?
W ww

® 2013

" 2014

@ 2010
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